
Free Questions for DEA-1TT5 by ebraindumps

Shared by Lloyd on 24-05-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1
Question Type: MultipleChoice

What is a benefit of using an existing Ethernet network infrastructure for storage connectivity?

Options: 
A- Provides a dedicated network for storage

B- Ensures security by allowing only localized data movement

C- Ensures lossless transmission of FC traffic

D- Reduces overall cost of the network infrastructure

Answer: 
D

Question 2
Question Type: MultipleChoice



What is the effect of implementing link aggregation in an FC SAN environment?

Options: 
A- Distributes network traffic over ISLs that ensures even ISL utilization

B- Yields higher throughput by combing two parallel ISLs into a single physical ISL

C- Saves bandwidth by restricting traffic to a specific potentially congested ISL

D- Improves ISL utilization by increasing network traffic on a specific ISL

Answer: 
B

Question 3
Question Type: MultipleChoice

What is the key advantage of cloning a VM?



Options: 
A- Improves the performance of existing VM and new VMs

B- Eliminates the need to create multiple snapshots for a VM

C- Saves time when creating multiple identical copies of a VM

D- Ability to run new VMs simultaneously with the same IP address

Answer: 
C

Question 4
Question Type: MultipleChoice

What is the result of increasing the number of FC switches in a full mesh topology?

Options: 
A- Reduces available node ports for ISL connectivity



B- Reduces number of storage and compute ports for node connectivity

C- Reduces switch ports available for node connectivity

D- Reduces switch ports available bandwidth for node connectivity

Answer: 
C

Question 5
Question Type: MultipleChoice

What is a benefit of unified storage systems?

Options: 
A- Provides the capability to separately plan the capacity consumption of object-based data

B- Eliminates the need to use SATA disk drives to store less valued data

C- Enables rapid development of modern applications by using a common storage pool

D- Increases the overall storage capacity utilization with no stranded capacity



Answer: 
C

Question 6
Question Type: MultipleChoice

Which backup component sends metadata and tracking information about each backup to the system that maintains this information?

Options: 
A- Backup agent

B- Storage node

C- Backup device

D- Backup server

Answer: 
D
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